OOooaOn

Jacques Garrigue, 20070 50 250

AOOOO0ODODOOOO0OO0ODOOOOOO00O0ODOOO00OODDOOOO0O0O0OO0 ¢ ODO0OODOO
gboboobobooooboboooooboboooobooboooooboan

1 O (type)OO

oooaO00O0OOO0OO0OODOOOOOO0OOObOODOOOO0O0O00OoOODOOObO0O0000o
obooobOoboooooobooooboobooooonoa

b == int|bool|...
t = blt—t|txt

ooooboooboobooboboboobooo
M:i=z|c¢ | et M | (M M) | (M, M)

oo00o0oopoOopgOOOOU0OOOO0Os ODOUODODODOOO

(Az:7.M) N — [N/z]M
(fstrxo—r (M, N)) - M
(snd;xg—g (M, N)) — N
(Sint—int Mint) — (n+ Dine
(ifOint—r—r—or Ot M N) — M
(lfolnt—r‘rﬂ‘rﬂ‘r Nine M N) - N

Oo00é 0000 sO000O0ODOOODODODODOSst,sndOdf00000O0O0O0OCOOOOOOOOOOO
OoO0r0e00O0O0O0O0OOOOODOODOOOODDOOO

2 000

0000000 (well-formedness) 000000000
'EM:r

MOOO0OOOO-000O00000O0TO0ODO000D000000000000 (21 :T1y...y@p )0
gbobooboboooobobooooboobooooobooobo

ogd Fkz:7 (x:70T0D00O0OD0)

0o I'kFe,:7



goooooo 2

Tx:0-M:7
ot ' Xe:0.M: 7
I'-M:0—71 I'EN:0
oo
'E(MN):t
I'-M:7 THN:0
oo
'E(M,N):7x80
oood
T:intF Sjptine Nt —int z:intk z :int
x itk (Sint—int ) :int
F Az:int.(Sint—int @) @ int — int F 1 :int
F ((Az:int.(Sint—int ©)) Lint) : int
2.1 OO

00000 fst,snd 0008 00000000000000000000
00 1(0000)THFM:70 M >NOOOOOOOTFN:7000000
00 2(000)-M:70000000000 (M—M —»M—..)0000000

0000000000000 00000000000000000OADODU0OOO0O00 (A x)( ez x)
Oo00o0o00000oDOb0o0o0Dbo00M:722000000000D00

z:ThFz:T—0 z:Thx:T

r:ThFxx:0
FAXx:1xax:0
00000o000oO0o0U00o0O0UOoOo0oUOoOo0DoOoo00r=(r—H)00O0O0ODOOOOOOOOOO
gdodboodouoouoouobobooobo ~roboooao
000y OooooooooooooooooooooooAOOOoD YOoOooooooo

3 Uoooon

oooooooooooboooooooobooaDOOO0ODDOOO0OOOO00ODODOOOOOODOO0O0ODOO
obooooooboooogn
O000M:7x0.(snd z,fst ) D000

'ksnd:7x80—60 T'Fax:7x0 Ffst:7x0—-7 I'kFax:7x40
'k (snd x): 6 Pk (fstx): 7
F=z:7x0F (sndz,fstx):0x7
FAx:7x6.(snd z,fstx):7x0—60xT1

gbobooboboooobooboooodg

AANB—B AABYD AAB—A AABOD

B A

AANB—-BAA
godooooooooootooooboooooooooooooboobooooouoooan




goooooo 3

4 00U

go0sd0d0ioopooooOoOooOo0oUOoOoOoOoOoOANOOO0OODDODOODODODODODOOODODODDODODOO
good

oooooooos bOO0O0O0OO0O0OCOODOOOOO0O00OOOODODOOOOO0O0ODOOOOOOOOOGO
gboooboooboooboobd

FAfir—1he:rnflfa:(r—71)>T—>7T

gbooooboboboooboo-~0obO00OO0O0OO0O0DbOO0ObOOO0OOO0OOO0bOObOOObOODbOO 20000
ocooooooooooooooOoOoboOo0oOoOooooobooOoODOOObOOo0OoOoDOoOoOooooOogs 0O
oooooooooogoo

Oo00oooO0oO0o0ooDbDo0oooobooy s ODOOOODOOOODO

Y(THT)HT M — M (Y(T*)T)*)T M)

oo0ovyoOOoOooooooooaOOOOOODOOOODODSdODOOOODDOOODOOOOANDO
oO00o0oooo0oO0ooaOO0ODOOOO0ODOOOOODOOOO

obooboooboobooobooboobooboooooboooboobooboooooooon
AO0O00DOOCOO0O0ODOOOODoOOoOn

t o= TVt
M == ... |AT.M | M[t]

oOooooAaOO0OO0ODOOO0ODOOOOODOOOOODOOOOO

Fe,=ArAf:7 o1 e:7m.ffe: V1. (r —>7) > T17—>7T

Fep=dm:IntAn: Int AT Af i 7 — 7. m.(m[r] = (n[7] f x)) : Int — Int — Int
Fex =dm: Int.An: Int. AT Af : 7 — 7.(m[7] (n[7] f)) : Int — Int — Int

F cexp = Am : Int.An 2 Int. AT.n[r — 7] (m[7]) : Int — Int — Int

o000 Int=vVr(r—71)—7—70
ooooooaO0ODOOANODOOOOOODODOOOODOOOODOOOODYODODOOOODOO

gboboooooobooooooooboooobooobooboobobOobooboboobobooobooobooooo

oood
gooooooooOoUoOopoooAaOODOOOO0YOOOODOODOOODODOOOOOODOOO



